EARAROBEEIERT — 2 N— IBISH —F

201656820 () 4m55#A3H

mﬁﬂwllﬁﬂﬂ C14 ¥R (xwlw | lmEmml - |5 @) w8
[AE4£] 17 :200,000" ~ 23%&:46,000 "  33&:20,000H . 437&:14,000H .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s LI R 144, -1-1- . — N (BHE)
1 A o4 W 1(4_4)1 1-1-1-1 | 38.0 1 (4_520) %?@;{cﬁﬂ
R8T BiaeFTLIU-X A EE
ol7lg|VxTz—V3 Ho4 %ﬁ%ﬁﬁﬂ 1:(485).7 4-4-2-2 | 38.8| — | 2 | 454 gﬁgm &2
LY LTAN—F B:T7T1=F« (-7) e
S 4 4 | KEHE 1:46.4 2-2-3-3 [ 39.5| — 3 465 | BRNEE (5H)
A N ER A E B 54.0 @® Gy | ) 7z hEva
R 2RUTYRIZX B:74FILTH-L Rt FH77—L4
N s 4 BijFnt 1:46.6 —6-3- . = RBM (51)
4189 - vl i 54.0 (11/2) 6654 | %96 ! (13_:);) RETTR ©
L:xvo¥ /%% B:7ON =Eicbae]
R o4 | BEREE 1:46.9 10-10-9-9 |38.7 | — 5 471 | EFEF (%1R)
5/5|5 L R)—=70- 56.0 (1 1/2) (+6) (=) JPN%;EH
RV TATYL L R B ZRN—U 70— iz el
— - e B T 4| — Wi (SH)
6 3| VYT —Y— i B 6.0 };?5? 5576 | 394 o ?_610) == B
L2y T bt —F7—K-—K B:H—%v hEa- Wt SR Ey K
N o g — o e WTHZ : —-3-5- - HEEE (0
. BB el 4 E S A Ol
Lid—WRKF7Ya—b B:FU—-U—F>F IS H LS
= 7 ER g : -8-8- — EB® (1)
8 NPT it 4 Ll 1(.14/72.)0 8-8-8-8 | 39.3 8 (4_413; el A
LV THTHILL R B2y h—T VX BHF FC
PN IR :47. ~7-10- . — NEESER (5542)
9l1l1 F_x—FYLtx 4 5 54_0A (12417/25) 7-7-10-10 | 39.5 10 :139) e A
L:7v3is—L BF-3ICFLT PNGitse]
S, o4 | BABE 1:47.7 9-9-6-7 |40.0| — 7 402 | DNEE=R (55HA)
10077 >—ALX ‘ 56.0 (1 1/2) (+3) | BMEEL
R:id—I>TLL B:RN—I T4y (/) HEa-KL—Ya>AET7
® 1—F—@EBIERL
1T=7r= 6,10,2,8,3,9,1,4,7,5
2a=5F= 6,10,2,8,3,9,1,4,7,5
Ja=5= 6,8,(9,10),2,7,3,4,5,1
40—F— 6,8,10,9,2,3,7,4,5,1
[ /N
B 6 110 714K 6-8 140H e E 6-7 260 JEE 6-8-10 500M4
B B 6 1004 6-10 180H B = 6-8 260M JEE 6-8-10 930M
8 110 8-10 290M B H 6-8 310
10 1309

ABICOVWTRDTEEERROODE. TR LIV,




